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[1] DIN(ug-at /L) No. 20
H25 | H26 | H27 H28 | H29 | H30 | H31 R2 R3 R4 104 RS F
3/6 3/5 3/3 3/1 3/1 3/6 3/5 3/3 3/2 3/1 Fiy 3/1 AB

0.5 0.4 0.5 1.2 10.9%| 0.8 1.2 1.4 0.6 0.8 1.2 |#r BT h A
0.8 0.8 0.8 0.7 1.2 |1.2%] 0.5 1.6 1.1 0.8 0.9 1.0 |3E& H|7hA
0.7 .2 1.5 0.8 1.6 1.8 0.9 0.9 1.5 1.2 1.2 2.8 |4t AT hA
0.8 2.1 2.7 1.9 1.5 1.6 2.2 1.1 1.7 1.5 1.7 1.4 |& # 1(7HA
0.6 1.9 3.7 1.4 1.3 1.5 1.7 1.4 2.0 2.5 1.8 = b 2|7hA
1.0 1.6 3.4 2.9 2.1 4.9 4.2 1.1 2.7 2.1 2.6 25 |k B B MUAA
0.8 2.3 4.0 4.0 2.6 5.0 6.6 1.2 1.3 1.8 3.0 2.0 |=E 1(THHA
S 2(7HA
0.7 2.3 4.4 3.7 2.2 6.5 7.8 1.8 2.3 2.1 3.4 26 |'& M H 1(THHA
1.4 3.1 4.8 3.0 2.3 3.0 3.4 0.9 1.9 1.4 2.5 1.9 |5 M H#H 2|98
0.7 3.3 4.3 3.9 2.7 4.9 3.4 1.2 1.5 0.9 2.1 1.8 |# 5 PR A A
0.6 1.7 2.9 2.5 1.3 1.5 1.5 1.1 2.5 0.5 1.6 1.8 |2 b 1(7HA
0.4 1.7 3.0 2.4 0.9 1.1 1.6 1.2 2.0 0.7 1.5 1.9 |8 b 2|7hA
0.3 1.8 3.2 2.9 1.2 1.4 1.4 1.3 1.4 0.2 1.5 1.5 |8 b 3|7 hHA

0.1 1.6 2.7 1.3 0.9 2.0 0.4 0.8 0.3 1.1 1.4 |E [ 112/

0.1 1.7 2.7 1.7 0.8 2.1 0.8 0.7 0.3 1.2 1.1 |E & 21/

0.1 1.8 2.7 1.1 0.9 2.5 0.5 0.6 4.0 1.6 1.1 |E [ A=A

1.1 2.4 3.4 0.7 4.9 2.5 1.0 |E & 4|18/ 1)

1.3 3.3 2.3 3.3 2.6 1.8 1.4 0.5 2.1 2.2 i N 1178/

0.1 2.0 3.0 2.5 0.5 3.2 2.3 0.5 1.8 2.0 | 2 2o/

8.4 3.0 8.4 1.2 1.1 1.7 0.9 1.2 3.2 14.3 il N 4|28/

6.5 [ 18.9 | 1.3 8.9 20 |fEBE R E @®oB/Y

1.7 |EsmREBQ@vB/Y
2.1 6.1 3.7 1.2 .5 0.6 3.9 3.3 0.5 |fn B & @74
0.4 2.8 0.8 2.1 .6 1.4 0.2 1.8 0.4 |fn B & @744
1.0 2.2 .2 1.7 .1 1.4 0.2 2.0 1.2 |fn B B OQ7AA
0.5 2.0 1.2 1.3 |fF1 B B @|7hA
0.2 1.9 0.9 1.2 0.0 1.4 1.9 1.1 0.9 |% EITAHA

0.1 3.1 3.0 1.4 0.5 1.1 1.9 0.2 1.4 0.8 |& P - 112/

0.4 1.5 1.1 1. 0.4 0.6 2.3 0.2 1.0 0.5 |& # 2(ym/)

0.2 1.9 0.9 0.3 0.2 0.6 0.4 0.6 1.0 |# = 2(om/)
0.6 2.0 0.4 0.5 2.2 1.4 1.2 =) Bl7hA
1.8 0.5 0.6 0.9 = *t 1(THHA
0.6 0.4 0.3 0.4 = # 2|7hHA

2.6 1.3 2.4 1.4 3.3 0.6 0.6 1.0 0.6 1.5 0.8 | ®loas

0.7 1.3 1.6 3.2 15.0 |FHN1 (REB)|RDTH

7.9 7.9 | 149 |FH ) 1 (0.5m|RST7A

1.7 1.7 140 |FH ) 1 (1.0m|RSTH

1.7 1.3 1.5 5.5 144 |FHN2(RB)|RDTH

1.3 1.3 14.8 |5 % )il 2 0.5m)|ROTH

6.7 6.7 | 17.2 |[FH M 2 (1.0m|RSTH

5.2 3.8 8.0 5.7 2.5 |FHIN 3 (RB)|RARCTH

8.0 8.0 | 15.4 |&F B Jil 38 (0.5m |[RTTH

7.0 7.0 15.8 |F %H )l 8 (1.0m | RTH

2.2 |FHIN4(XRB)|RCTH

22.8 |F B NIl 4 0.5m)|RCT7H

15.9 |S % Il 4 (1.0m) | ROTH

18.3 |ZHINIS5 (RE)ARSTH

18.5 |& % Il 5 (0.5m)| R T7H

172 |F H )1 5 (1.0m) | ROTH




[2] Y2(ug-at L) No. 20

H25 H26 H27 H28 H29 H30 H31 R2 R3 R4 104 R5 &F
3/13 | 3/5 | 3/3 | 3/8 | 3/7 3/6 3/5 3/3 3/2 3/1 Ty | 31 BB

0.08|0.16 | 0.19 | 0.48 | 0.20% | 0.24 0. 40 0.33 0.30 | 0.27| 0.36 |4F F|oHA
0.15] 0.12| 0.21 | 0.15 | 0.37 | 0.24% | 0.21 0.35 0.29 0.32 | 0.24| 0.31 |E H(7HhH A
0.16 1 0.23 | 0.27 | 0.14 | 0.34 | 0.28 0.27 0.35 0. 31 0.33 | 0.27| 0.51 |4t BT A A
0.12 1 0.19 | 0.41 | 0.25| 0.40 | 0.28 0.27 0.55 0. 31 0.34 | 0.31] 0.37 |= e 1[ThA
0.13]0.21 | 0.39 | 0.24 | 0.66 | 0.37 0.28 0. 39 0.43 0.48 | 0.36 2 A 2|7Hh A
0.12 1 0.20 | 0.34 | 0.27 | 0.37 | 0.26 0.27 0.34 0.33 0.32 | 0.28] 0.39 |k ® M PFTHA
0.20 | 0.26 | 0.29 | 0.27 | 0.34 | 0.25 0.24 0.33 0.30 0.32 | 0.28] 0.35 |= 1[7hA
S 2(ThA
0.19 | 0.40 | 0.53 | 0.26 | 0.54 | 0.45 0.57 0.35 0.37 0.32 | 0.40| 0.68 | P H 1|7hHA
0.23 ] 0.46 | 0.43 | 0.26 | 0.48 | 0.31 0.33 0.34 0.30 0.35 | 0.35| 0.42 |8 P B 2[(7hHA
0.17 1 0.27 | 0.21 | 0.33 | 0.26 0.24 0.31 0.25 0.28 | 0.26 | 0.38 |#r LS F9[7H A
0.16 | 0.19 | 0.23 | 0.20 | 0.34 | 0.14 0.25 0.32 0.21 0.32 [0.23] 0.29 |2 e 1[ThA
0.16 | 0.18 | 0.23 | 0.21 | 0.31 | 0.14 0.26 0. 31 0.22 0.35 | 0.24] 0.33 |2 A 2|7Hh A
0.15]0.19 ] 0.23 | 0.20 | 0.37 | 0.14 0.23 0.32 0.24 0.30 [ 0.24] 0.31 |2 e 3|7Hh A

0.18 1 0.22 | 0.27 | 0.32 | 0.25 0.14 0.31 0.34 | 0.25]| 0.29 |E R A=Pa

0.20 | 0.20 | 0.21 | 0.31 | 0.25 0.15 0.29 0.31 | 0.24] 0.28 |E =1 2|/ Y

0.2210.19]0.23|0.32| 0.27 0.13 0.27 0.30 | 0.24] 0.29 |E R 3|y Y

0.32 | 0.27 0.27 0.28 0.35 | 0.30] 0.27 |E =1 4lp0/)

0.18 | 0.11 [ 0.13 [ 0.34 | 0.20 1.19 0.25 |0.34] 0.32 |l N A=Pa

0.16 | 0.16 | 0.11 | 0.26 | 0.22 0.33 0.21 | 0.21] 0.34 | N 2|/

0.21 | 0.38 | 0.46 | 0.31 | 0.20 0.29 0.25 | 0.30] 0.43 | N 4o/

0.10 | 0.80 | 0.16 03103 |EE8mKE ®va/Y

0.46 |E B M R BE @B/ Y
0.12 | 0.17 0.36 | 0.31 0.06 0.51 [0.25]021 |;n B B @|7h
0.20 | 0.17 0.41 | 0.27 0. 31 0.28 | 0271019 |fn B B @|7AA
0.16 | 0.09 0.37 | 0.39 0.29 0.27 [0.26]0.27 |;n B B Q|7H+
0.11 0.30 | 020102 |fn BH B @7HA
0.05 | 0.17 0.01 0.32 0.29 0.17] 0.22 |5 | HA

0.10 | 0.07 | 0.22 | 0.27 | 0.25 0.28 0.37 0.61 | 0.27] 0.24 |5 # A=Pa

0.11] 0.05| 0.15 | 0.19 | 0.24 0.24 0.28 0.21 [0.18] 0.21 |& # 2|8/

0.18 0. 68 0.21 0.03 0.22 0.40 | 0.29 | 0.28 | =) 2|/ Y
0.26 | 0.19 | 0.24 | 0.65 | 0.31 | 0.46 0.81 | 0.42 th BlTAA
0.12 0.09 0.28 | 0.17 & # 1|THA
0.12 0.10 0.22 | 0.14 = # 2|7Hh A

0.17 1 0.19 | 0.22 | 0.29 | 0.27 0.22 0.23 0.15 0.21 | 0.22| 0.22 | #|oosy

0.14 0.04 0.47 0.21| 0.61 [EFN 1 (KRB)|RSTH

0.48 0.48 | 0.61 |&F % )il 1 (0.5m) |RST7H

0.47 0.47] 0.62 |F H )il 1 (1.0m) | XRST7H

0.63 0.10 0. 46 0.40 | 0.66 |EFF /Il 2 (RB)|ASTH

0. 46 0.46 | 0.67 |= % JIl 2 (0.5m) |RT7H

0. 46 0.46 | 0.64 |F & )il 2 (1.0m) |[RSTH

0.28 0. 11 0.48 0.29] 0.58 |[ZH I3 (RB)|ASTH

0.47 0.47 | 0.65 |&F % JIl 3 (0.5m) |RST7H

0. 46 0.46 | 0.62 |&F % )il 3 (1.0m) |[RTT7H

0.72 |[ZEH N 4 (RB)|ROTH

0.76 |= % JIl 4 (0.5m) |RC7H

0.63 |ZF & )l 4 (1.Om|RCTH

0.78 |EH NI 5 (XB)|RCTH

0.82 |F & )l 5 (0.5m|RCTH

0.95 |&F % )l 5 (1.0m) | RETH




[3] Xk & No. 20
H25 H26 H27 H28 H29 H30 H31 R2 R3 R4 104 R5 F
3/6 3/5 3/3 3/8 3/7 3/6 3/5 3/3 3/2 3/1 T 3/1 AH
9.3 8.5 8.9 r F|DOh A
8.6 | 7.6% | 10.3 | 10.1 | 9.9 9.7 % H|7H A
i B|TAA
= b} 1|7HA
= b} 2(7H A
8.8 9.4 9.2 [ 11.2 | 9.9 89 [ 1.5 109 | 10.2 | 9.5 | 10.0 | 10.4 |k & 1 F|oHA
= CEE
= 2|THhA
BOM B 1|TAA
B B 2(TUA
# 5 Fa[7 7 A
B2 b1 CEE
B2 b1 2(7H A
B2 b1 3[7HA
9.0 9.3 9.5 | 11.5 8.4 | 10.8 | 11.2 9.1 9.9 | 10.1 |E I MA=PA!
9.1 9.3 9.5 | 11.5 8.4 | 10.8 | 11.1 9.0 9.8 | 10.1 | I 2|/
9.2 9.5 9.5 | 11.3 8.4 | 10.7 | 111 8.9 9.8 | 10.1 | I 3|vmsy
8.6 | 10.6 | 11.1 8.8 9.8 | 10.2 |E I 4|lpo/ )
8.2 9.5 9.3 | 11.5 | 9.8 9.0 10.9 9.2 9.7 9.9 | [ A=PA!
8.5 9.8 9.0 | 11.5 | 10.0 | 9.0 10.7 9.1 9.7 | 10.1 | [ 2|/
8.2 9.5 9.0 | 11.4 | 9.8 9.0 1.1 9.0 9.6 9.4 | [ 4|lpo/ )
8.2 9.0 8.0 84 | 100 |EE W RE ®vD/Y
9.8 |EE R E @vRn/Y
8.8 9.7 9.6 9.5 10.5 | 9.6 9.6 [ 100 [f1 B B @|7hHA
9.0 9.3 9.8 9.6 10.9 | 8.4 9.5 9.4 |f1 B B ©Q|7h#
9.1 9.4 9.7 9.7 10.7 | 8.9 9.6 9.5 |f1 B B Q|UA
106 | 9.6 [ 10.1 ] 101 |[fn B B @77+
5 E|THA
9.5 9.8 8.4 | 11.2 | 9.0 10.3 | 11.5 | 8.0 9.7 9.9 |& b= A=PA!
9.5 9.8 9.1 1.2 | 9.0 10.4 | 11.7 | 8.0 9.8 9.9 |& = 2|/
8.5 9.0 10.0 7.0 8.6 7.0 |+ B 2|/
h B(7AA
& # 1|7HA
& #t 2|7 hA
1.3 9.7 | 121 | 10.6 | 10.4 | 11.9 | 11.9 [ 1225 [ 10.1 | 11.2 | 11.2 | #loos
10.0 | 10.6 10.3 ] 9.6 |FEHN 1 (REB)|RSTH
10.6 10.6 | 9.6 |= % )l 1 0.5m)|RSF7A
10.6 10.6 | 9.7 |SH 1 (1.0m)|RSTA
10.5 | 10.4 105 9.7 |EHIN 2 (REB)|RSTH
10.5 10.5 1 9.7 |5 H )l 2 0.5m|RSF7A
10.6 10.6 | 10.0 |5 % )l 2 (1.0m) | RSTA
10.0 | 10.5 10.3 ] 9.5 |EHNI3 (REB)|ARSTH
10.6 10.6 | 9.6 |= % )l 8 (0.5m) |RSTA
10.7 1.7 1 9.7 |EH I 8 (1.0m|RSTA
9.8 |FHI 4 (RB)|ROT7H
9.6 |& F )l 4 0.5m)|RACTFH
9.6 |[F&H N 4 (1.0m|RATTFH
9.2 |FHIIIS5 (RB)|RCTH
9.1 |[F &H )l 5 0.5m)|RACTF7H
9.6 |[F&H NI 5 (1.0m|RATTFH




(4] & %» No. 20

H25 H26 H27 H28 H29 H30 H30 R2 R3 R4 104 R5 &
3/6 3/5 3/3 3/1 3/1 3/6 3/5 3/3 3/2 3/1 E1 3/1 AR

31.4 | 31.1 | 31.7|32.5(32.6% | 31.6 | 32.2 | 33.0 | 31.9 | 31.9] 32.6 [F | hA
31.9 | 31.4 [ 31.2 | 31.7] 32.5|32.9% | 31.8 32.2 32.7 32.0 | 31.9] 32.6 |¥ HB[{T7HhH A
31.931.6[31.6[31.8[32.4| 327 | 321 | 323 | 32.8 | 32.1 | 32.1] 32.7 [|4& [T H A
32.0 |1 31.8 | 31.7(31.9 | 32.4| 32.7 32.6 32.4 32.6 32.3 [ 32.2] 32.9 |& b::} 1|7H A4
32.031.8(31.6[31.9(32.4| 327 | 326 | 32.3 | 32.7 | 32.3 | 32.2] 32.8 |& b 2|T7hA
320 31.6 | 31.3 | 31.7] 32.5| 33.1 32.7 32.9 32.9 32.3 |32.3] 32.8 |,k H®F & PF|UAHA
32.1(31.5(31.8[32.1(324| 328 | 3228 | 32.7 | 32.8 | 32.2 | 32.3] 32.9 |= 1[7H A
= 2|THA
32.1(31.6(31.8(320(32.7| 325 | 327 | 327 | 32.8 | 32.5 | 323 329 |['& M ® 1|74
3211 31.7 | 31.7(32.1]32.6| 32.8 32.5 32.7 32.8 323 [ 32.3] 33.0 |l P9 HET 2|7HA
32.21320(320(32.1(325| 327 | 327 | 327 | 33.1 | 32.4 | 32.4] 33.1 |& 5] 9|7 A A
3211320 31.9(31.3]32.4] 31.8 32.9 32.8 32.6 32.5 [ 32.2] 33.3 |&B b::} 1|7 H A
32.0(320(31.7[31.2(324| 31.6 | 3229 | 32.8 | 32.1 | 32.5 | 32.1] 33.0 |® b 2|T7hA
31,91 31.9 | 31.5(30.7 | 32.4| 31.4 32.8 32.5 32.8 32.4 | 32.0| 33.0 |&E b::} 3(THA

31.9(31.8(31.6(31.8[32.6]| 32.7 | 32.7 | 32.6 32.3 [ 32.2] 32.6 |E I 1lpo/ Y

31.8 | 31.6 | 31.7|31.8]32.5]| 32.7 32.6 32.6 32.2 | 32.2) 327 |E R 2o/

31.9 [ 31.7(31.7]31.8(32.4| 32.8 | 32.4 | 32.7 30.4 [ 320] 329 |E I 3(yo/Y

32.5 | 32.8 32.5 32.8 30.0 [ 32.1] 33.0 |E R 4\y81a/Y

30.7 | 30.5|31.5|30.4|30.8]| 32.4 31.9 32.2 | 31.3 | 32.4 | N 2=PA)

31.6 | 31.4 | 31.0 | 31.3 | 32.5 | 31.5 31.6 32.0 | 31.6 | 32.8 |l A 28/

26.3 | 31.2(28.0|31.9|32.4]| 32.4 32.17 31.8 | 30.8| 24.3 | N 450/

27.0 | 27.4 | 30.3 28.2| 32.6 |EE T RE ®©va/sY

.5 |EETWRE @vasy
29.5 | 28.5 31.6 | 32.0 | 30.8 32.6 317 [30.9] 31,9 |f1 B B @7HA
30.7 | 30.0 31.6 | 32.0| 31.0 327 | 314 | 31.3| 3.9 |Fn A B @Q@UA
31.1 | 29.9 32.2 (320 31.8 32.8 32.1 3171323 |fn H B O|7H+
323 | 31.8 [321]| 323 |fn H B @7n
30.9 [ 29.8|31.5]31.7 32.1 33.1 31.5| 32.7 |4 E|TAA

30.6 | 29.5 [ 30.6 | 31.9 | 32.4 320 | 326 | 33.3 | 32.1 | 31.7] 329 |5 # 2=PA)

30.6 1 29.8 | 31.6 | 32.0 | 32.6 32.6 33.4 32.2 [ 31.8] 32.8 |4 # 2o/

31.5 31.6 | 31.8 | 32.4 32.4 | 32.3 32.4 | 32.1] 32.8 |+ g 240/
31.6 1 29.7 | 31.2 32.4 32.3 32.1 31.6 e B|7AA
26. 1 33.1 | 31.2 31.0 | 30.4 = # 1[7H A
31.8 32.9 31.5 | 32.1 & #t 2T HA

31.9 [ 31.7 (325|328 33.1 | 325 | 31.8 | 32.5 | 32.4| 32.9 |+ |/

29.3 30.3 30.0 20.8] 29.2 |EHIN1(RB)|IRAVCTAH

29.7 2071 29.5 |&H H )l 1 (0.5m) |[RUTFA

29.6 296 29.0 |FEH N 1 (1.0m|RCTH

26.8 31.3 | 29.3 20.1] 29.0 | BN 2 (RB)|RCTA

29.4 2941 29.2 |FH Nl 2 (0.5m|RCTH

29.7 2071 29.2 |HFH Nl 2 (1.0m)|[ROTFA
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